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Q.No.1 Encircle the correct answer from the following choices. (3)
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1. The change of milk into yogurt is: e bu s (o0
(a)|Physical change d'.iu”b (b)|Chemical change d"ig‘:./
(c)[Climate change J:y“u’r (d)|Change of colour &/;JVC
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1. The change of milk into yogurt is: :c‘;U)gu-‘.'Uwa»
(a)|Physical change L)E,«P’d’b (b)[Chemical change UE";?{
(c)[Climate change uliid;’ (d)|Change of colour J:id/..f/

2. Which factor will not affect dissolving sugar into water?
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(a)|Adding salt in water L/JL’J&&KJ (b)| Making sugar power by grinding
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2. Which factor will not affect dissolving sugar into water?
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(a)|Adding salt in water L/U'LPuf.’d‘L.K.C’ (b)| Making sugar power by grinding
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(c)|Heating water and sugar L'/(/j@gu'u;.‘.g (d)|Stirring water and sugar tﬂz}qj}?ﬂ'&&

(c) [Heating water and sugar L/(/;fdgm@e (d)[Stirring water and sugar Ll&/dgﬂdg

3. Which one is a chemical change? ?‘Ldfék{(fU/
(a)|Seed germination L‘ffK@ (b)|Making paper boat L'lzf/d/ﬁg
(c)| Burning of wood L‘ll,iu’}d (d)|Cooking food L’étu/
Q. No. 1. Explain evaporation giving examples from everyday life: (3)
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Q. No. 2. Give an example of chemical change in which carbon dioxide is

produced: (4)
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Q. No. 2. Give an example of chemical change in which carbon dioxide is
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